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BE THE NEXT GENIUS

Hindi Class 12 Sample Question: (PCB)

English:

The environment is the natural world around us, including the air we breathe, the water
we drink, and the land we live on. It is essential for our survival, as it provides us with
the resources we need to live.

The environment is also fragile, and it can be easily damaged by human activities.
Pollution, deforestation, and climate change are just a few of the ways that we are
harming our environment.

It is important to protect our environment for the sake of future generations. We can do
this by reducing our consumption of resources, recycling and reusing materials, and
supporting sustainable practices.

1. What is the main purpose of the environment?

A. To provide us with the resources we need to live.

B. To protect us from harm.

C. To provide us with beauty and inspiration.

D. All of the above.

2. What are some of the ways that we are harming our environment?
A. Pollution

B. Deforestation

C. Climate change

D. All of the above.



3. Identify the sentence with a grammatical error:
(A) She have been studying for the exam all week.
(B) He goes to the gym every day to keep fit.

(C) They doesn't like spicy food.

(D) I have already seen that movie twice.

4. Choose the correctly spelled word:
(A) Rhythem

(B) Embarrassment

(C) Aggresive

(D) Neccessary

5.The manager gave her the_green light to proceed with the project. Write the meaning
of the underlined phrase.

(A) stopped her

(B) warned her

(C) approved her

(D) criticized her
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25.

Match List-1 with List-II

List-1 List-11

(a) Vaults I. Entry of sperm through the Cervix is blocked
(b) IUDs Il. Removal of Vas deferens

(c) Vasectomy lll. Phagocytosis of sperms within the Uterus

(d) Tubectomy IV. Removal of the fallopian tube

Choose the correct answer from the options given below:

(@ (b) (c) (d)
1. (i) @v)  Gi)) ()
2. (i) () (v) (i)
3. (v) (i) () (i)
a. (i) (i) (i) (i)



Answers:
1D 2D 3C 4B 55C 6B 7B 8A 9A 10B 11.B 12.C 13.C

14.C 15B 16.A 17.D 18A 19D 20A 21.B 22.A 23.A 24B 25D



